

EATONVILLE

POLICE DEPARTMENT- CHIEF JASON LALIBERTE

## M E M O R A N D U M

### DATE: 04/13/2020

TO: MAYOR SCHAUB AND TOWN COUNCIL

FROM: CHIEF JASON LALIBERTE

RE: EATONVILLE POLICE DEPARTMENT'S MARCH \_2020 REPORT

#### General

We are adapting to unprecedented times due to the COVID-19 epidemic. As a Department we are following best practices suggested by Governor Inslee's office, the Washington State Association of Sheriffs and Police Chiefs (WASPC), and surrounding law enforcement agencies. My Officers have the appropriate personal protection equipment large in part to the Pierce County Sheriff's Department and the PC Department of Emergency Management. I continually provide them updates in regard to protection, response, enforcement, and COVID-19 trends.

### **Public Safety Committee**

There was no public safety committee meeting in March.

### Management Activities

Officer Duran was in Army Reserve training for most of March. He returned April 4<sup>th</sup> but only to receive "full activation" orders beginning April 7<sup>th</sup> and ended up to 177 days later. Officer Wade stepped up and covered several of Duran's shifts on overtime.

On March 16<sup>th</sup>, 2020 at about 5:46 am the Pierce County Sheriff's Department (PCSD) responded to a residence in town regarding a domestic violence call involving a weapon. PCSD Deputies responded and discovered the female victim had been physically assaulted by her live-in boyfriend. He held her captive for a period (not allowing her to call 911) and forced a handgun into her mouth threatening to kill her. The suspect fled and was later taken into custody by PCSD. This was a major investigation and it was necessary to utilize the PCSD Criminal Investigation Bureau (CIB) for the investigation. I have attached an itemization report outlining the *approximate* cost of this investigation. 8 Deputies were involved in the initial response and/or subsequent apprehension of the suspect (not included in cost estimate).

The attached report supports the advantage of utilizing PCSD special services on a per-capita versus a per incident basis.

March				
2020				
	DISPATCHED CALLS	71(15_FIRE/EMS CALLS)		
	TRAFFIC STOPS	24		
	TOTAL CALLS (all sources)	110		
	REPORTS GENERATED	7		
	COMMUNITY SERVICE	9		
	ANIMAL CONTROL	2		
	CODE ENFORCEMENT	0		
	VERBAL WARNINGS - TRAFFIC	21		
	CRIMINAL CITATIONS	2		
	TRAFFIC INFRACTIONS	0		
	TRAFFIC ACCIDENT REPORTS	0		
	MISDEMEANOR ARRESTS	3		
	FELONY ARRESTS	1		
	PCSD 911 AFTER HOURS CONTRACT	January 2020 : 3		
	DISPATCHED CALLS -BILLED	February 2020: 2		
		March 2020: 5		
	CONCEALED PISTOL LICENSE	December 2019: 9		
		January 2020: 13		
		February 2020: 14		
		March 2020: 3		
	PUBLIC DISCLOSURE REQUESTS	December 2019: 5		
		January 2020: 10		
		February 2020: 0		
	CASES FORWARDED TO PCSD CIB	March 2020: 2   February 2020: 1		
		March 2020: 2		

# Eatonville PD

## **PCSD Services**

## *Total*= \$2,182.89

## Case # 2007600277

Officer	Service Type	Hours	Price Per Hour or Incident	Total
Deputy Hoznagel	On Scene	30	\$39.36	\$1,180.80
D/SGT Catey	On Scene	5	\$56.57	\$282.85
D/SGT Catey	On Scene	2	\$84.86	\$169.72
Arcadia	Forensics	3.5	\$37.95	\$132.83
Mell	Forensics	1.75	\$41.67	\$72.92
Barnett	Forensics	5.25	\$41.67	\$218.77
Barnett	Forensics	2	\$62.50	\$125.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00

### **Eatonville Power & Light**

Superintendent Dan Sharpe Linemen Nestor Sundiata Matthew Rivera

### February 2020

Reconnect & Disconnect Reconnect 6 Disconnect 4 Shut off 6

Power locates Locates for Comcast Locates homeowners Locates rainier connect Locates for contractors

Parks Picked up garbage Clean parks Locked &unlocked bathrooms

Power & light Power repairs Replace meters Trim trees Finish Pulled cable on Rainier Scheduled outage on rainier

Misc. Safety meeting Help public works Banner up & down Maintenance on equipment Meet with Asplundh tree trimming

### March 2020 Water Sewer Work List Synopsis

- Daily water and wastewater water quality laboratory testing and system checks.
- Daily Water and wastewater treatment quality assurance / quality control laboratory testing
- Daily pick up garbage in parks
- Daily water and wastewater treatment plant maintenance
- Daily meter reads move in/outs.
- Locates as requested around town
- Fill pot holes around town.
- Train employees at both water and wastewater plants
- Clean sewer lift stations
- Various afterhours WTP and WWTP alarms
- Install several street signs around town
- Inspect new Water / Sewer connections.
- Clean treatment plants top to bottom.
- Clean, unplug and TV sewer main around town.
- Install several new water meters at new connections
- Help power crew.
- Put down deicing salt as needed around town.
- Water leak detection around town.
- Continue annual DOH and Ecology water/wastewater reports.
- Update water cross connection program.
- Pick up new dump truck.
- Work on new construction projects and updates.
- Repair Air valve issues at WWTP.

## FIRE CHIEF REPORT - APRIL 2020

TO: Town of Eatonville Councilmembers

FROM: Richard Curtis, Fire Chief

RE: Monthly Report

Dear Councilmembers:

The District has been very busy ensuring our employees and volunteers are taking all prudent precautions to stay healthy and on duty for the community in this challenging time. Some of the major actions we have taken are:

- The District declared an emergency to enable our department to purchase needed PPE and supplies without the ordinary restraints, as well as be eligible for reimbursements.
- Locked Down all Fire Stations.
  - Administrative staff are working from home.
  - Writing only online burn permits.
  - Restricted visitors and families from visiting staff.
  - Cancelled/Suspended public education, tours, and training activities.
- We have issued strict Policy Directives to staff on the use of PPE and disinfection procedures.
  - All personnel shall wear a N95 or P100 to all calls until full PPE determination is made.
  - Suspected or known COVID-19 patients the staff shall wear mask, goggles, gown, and gloves.
  - Daily disinfecting procedures for stations and apparatus are conducted.
- We are proud to announce that we have had no employees become exposed to COVID-19 to this date.
- The Commissioners have interviewed two individuals for Fire Chief and are very close to announcing a decision after the background investigation is complete.
- Staffing level improvements to increase level of service for citizens.
  - We hired two fulltime Firefighter/Paramedics on April 1, and are in the process of conducting the bridge academy first until the Bates Firefighter Academy opens on May 5 in which they will be gone for 12 weeks, then return for duty at South Pierce.